Cuboid & Cube
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Cuboid (g914):

Volume =IxXxbXx h

(3T d)

I, Lateral Surface area=2(l+b) xh
| (4 gsta

Diagonal= /I2 + b2 + h2




Volume= a3

(3T d-)

o Lateral Surface area= 4a?

@4 ggia &)

. Total Surface area= 6a*
/&/ (P S &wa)
o Diagonal= v3a




| . The total surface area of a cube is 1734

229 sq. cm. Find its volume.
/603'___1—',‘%-57—— el e T Fo TG BT 1734
g cm B| SHHT HTIGA IdT I
R=17 a) 4931 b) 289
c)1116 #4913




2. If the volume of a cube is 81v/3cm?, then
its total surface areais:

gfe Rt o7 &1 3mIaeT 81V3cem3 &, ar

3 SUHT Fel TSI HABA AT HY|
=83 a) 166 cm? b) 152 cm?
2, /\ c) 164 cm? %162 cm?
a=:2\7’x 2J3
J
=353
Sal=6x)= 162
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2_Three solid cubes of side 1 cm, 6
cm and 8 cm are melted to form a
+ 1 new cube. Find the total surface

area of the cube so formed.

1cm, 6cm d@ 8cm 813113-11‘ arel
A 3 Tt F Ruenr W
qAT O ST ST §] 39 AT
¥ U HT Fd HdAQl &R
9T HY

a) 81 b) 324

c) 729 A1 486




(3, 4. 5}——’ 6
(16379

CMM, QP*\M

2
L 3tv+5=6

2
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y.The area of the floor of a cubical room is

147 m?. The length of the longest rod that
can be kept in the room is:

] U EHR FA F BN F aEhd
fsal47m2 g 39 FAY & IAVwaw frae
> TS drell B8 TEY ST Ahd! 87
5
QZ——M7 y; alsm b) 18 m

A21m d)16m
(2—_ a’hﬁ’]: {'2_
JI {

B0=1 =g
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5.A ng_n has a square base whose side
is 8 cm. The height of prism is 80cm.
1?3; % The prism is cut into 10 identical parts
10 by 9 cuts which are parallel to base of
prism, what is the total surface area
10 Gnber go (in cmz) of all the 10 parts together?
s A &1 YR ot § Sad
T 8 cm @] e #T 391§ 80 em
3 Ao N 3UR & FHEER 9
Ferdl 10 HEY H FHrer 1491 10
< 1= HN T T fras Fa g
€ ERTC] (cm ) T 87
a) 4260 b) 2560
/3840 d) 3220

Ga’= 6x &Y

00— N-

3‘2\43(\0
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240
160

6. If the length of a rectangular

parallelopiped is 3 times of its
readth and 5 times of its height
and its volume is 14400 cm?3,
then area of the total surface will

be

frdl gamr T dFES ST
dls @ 3 I T IR FAE
F 5 AT @ I FHH
T 14400 cm?® & ar sqT

Fel a%au»—er qdr &3]
44’4320 cm b) 5320 cm?
c) 2420 cm? d) 3320 cm?
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7- What is the greatest length of
the rod which can be kept in a
T R f di i 12m x
h room of dimensions m
J L tb 9m X 8m?
12m x 9m x 8m TSR qrel
frdft s & 3fs @

Uy 3+ fhadl oFes 1 o3
a) 288 m b) 29 m
6Y A1 m d)13 m

J28$9

n

7




8¢ The length of longest pole that can
be placed on the floor of a room is
12 m and the length of longest pole

=) that can be placed in the room is 15
__.—-/ m. the height of the room is:

) —45™ Fdt FAY F vF W A0FaA

q=1 12m @FET @FET T@T ST Gl ¢
12 3R FAY # FOFIHA 15m dFa

GFT @1 AT FEHT 8] FAT A

391§ 9T F|

a)3m b) 6 m

%Qm d) none of these

AN
s




9. To pack a set of books, Gautam got
Q_)( bx h= \/ cartons of a certain height that were 48
— . inches long and 27 inches wide. If the
|jC-(-_ 12 indh volume of such a carton was 22.5 cubic

2 . fdeet, what was the height of each
Ht =4\ At carton? [Use 1 foot = 12 inches.]

lfj(:g'—-l?.XlZYl?—w $T Th de ﬁﬂ?waﬂ?]' & faw,
23Mad A e Aaad Fa§ & Fea
NI Grr S 48 ST @ 3R 27 S OB
A & orsum e (o By
Teaand SF FA A SUE fhaelt 62 [1
$T = 12 57 A
h=30 a) 32 inches b) 32.5

30 Inches ¢) 36 inches

| SSC CHSL, 24 May 2022 S3 | 14



[o° A hall is 18 m long and 12 m broad. If the
sum of the areas of the floor and the ceiling
is equal to the sum of the areas of the four

2 qg_x_l—_'%.x 2 walls, the volume (in cm?) of the hall is:
TH BT 18m T 3 12m =lsr &1

I wet 3R od F aAFwal FToIET

h=26_92 TR QAR F ATET F AT F W

5 g, a 8Tl &7 3Aa (incm?) &:
/ a) 1175.5 b) 1876.2
PEN 15552 d) 1376.4
X\
1535.2
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(1. A cube of edge 15 cm is immersed completely in a rectangular vessel

containing water. If the dimensions of the base of the vessel are 20
cm x 15 cm, find the rise in water level.

Mxhwﬂﬁﬁ#mmmﬁmm#wcmmmmm

aﬁqﬁmmmamwaﬁw?mmmzo
H ('1‘4.-“_ cmX15cm%F|’ftl'lFﬁﬁﬁ?TcmW3'37lT’?

a) 11 b)12 #1125 d)12.75

. |

Ll—




OkHDMDCM

@ 10cwn x10emxi0em = 1 Wb

S 000 cm>= | Mdx

™ xlmsxm- 1000 Lt
2 Im®=1000 Yk,




K,,looo
K!,ogrwm =looo o70m
5 Lilomdr= 5150 wm k1D mutir = (000 vt

Lol = (000 Y
5 kil L = 508 Wkt 20 Jukig




—T—1 Z?’O om

| o

A tank is in the form of a cuboid
with length 12 m. If 18 kilolitre of
water is removed from it, the
water level goes down by 30 cm.
what is the width (in m) of the
tank?

Ud & HHT qd TH e
drag 12 #Hiew @1 3fe swd
18 fFaleliexr el faewrer form
ST & @ SHET Jd T/
30 cm a3 e Srar @1 EF #
Tlers ( HAex # ) frar 872
a)4 W5

€) 5.5 d) 4.5
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|3 In swimming pool measuring 90 m
by 40m, 150 men take a dip. If the

average displacement of water by a

L) \5\3\ man is 8 cu m, what will be the rise
QB’XW h =-450X in water level?™> Zwm>

90 m UM 40m aTer U fFafdar

h=1 m qer # 150 mest gadr wam §

3 IR TF AfFT Hwaw 8 =

Hex ot ReaRa wxar & ar
qwﬁﬂ?wﬁrg'éaa’l?lfrﬁv—d?ﬁ

/33 33 cm b) 30 cm
c)20cm d) 25cm




o 1Y, A swimming bath is 24 m long and 15

_ W’ o plncs veMw< m broad. When a number of men
Mo VOIWM WW P dive into the bath, the height of the

12 3 water rises by 1 cm. if the average
_'__ T = Ay 45 _L amount of water dlspl.aced by one of
15 the men be 0.1 cubic metre, how

many men are there in the bath?

th Eaffer g A aFEE 24m

i As 15m ¥ ST Fo AT
UH gah oand § Y 9l &
TR 1em §¢ AT & 3F/R TH
et 3taasr 0.1 gs #Hlex uEh
N Reafa &1 aFar § & @
# Fof fra= ameet ¥2
a)42 b) 46
c) 32 A 36




1283 <!

S
Oxay7=+2e-

A= &
0:’='5|7_

/G- A large water tank has the shape

— 1

“
aC
=7

of a cube. If 128 m3 of water is
pumped out, the water level goes
down by 2m. Then the maximum
capauty of the tank is:

T T gl Y T T IER
U O & ¥ 9y A @ 128
m3 Ul 9}y e SmEar §
ar gt &1 TR 2m AR Ter
ST 8] <hr A IAWFaAR

/%12 m3 b)480 m?3
c)324 m3 d)256 m?3
|CDS 201511 | 22



290
& = =0 éiT
X

2 Wt
208+
Big Volwnt _ Wall vol. _
Smold Voluwwe — Brick vel.
’QﬁIkB?(}ZdT)XASZP(Qt>
S I

[6* Find the no. of bricks, each

N

measuring 24 cm X 12 cm X 8 cm,
required to construct a wall 24 m
long, 8 m high and 60 cm thick, if
10% of the wall is filled with mortar.
24m WFl, 8m oFl 3T 60cm
98t AR §6 s & AT 24 cm x
12cm x8cm AN drell  fhd«r
gl Y TR 9390 PR OR FT
10% REET AR & T T
g3T ar?

9

a)50000 45000

c) 40000 d) 36000




|3. A solid metallic cuboid of dimensions 18cm X

36cm X 72cm is melted and recast into 8
J%X%é’)( =Q cubes of the same volume. What is the ratio of
the total surface area of the cuboid to the sum
of the lateral surface area of all 8 cubes?

_ P 18 AT x 36 AH x 72 AA AT F1 TH
[8=2x 9= a AT uifcasd g7 Rugarr amar § 3k

_,252_7'?“12: s IgaT & 8 waAl F uyaARifia e
%4 2484y m%lmaa:mqwamaﬁt
5 e T Haﬁsa?ﬁﬂ;;refqtﬁtramé:m

ST FeTqTd AT §?

AR i a)2:3 H7:8

QXM P c)4:7 d)7:12
St @
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|8: A solid metallic cuboid of dimensions
12cm X 54 cm X 72cm is melted and

Y z 4? converted into 8 cubes of the same size.

%5 12X =& What is the sum of the lateral surface areas
& (in cm?) of 2 such cubes?

12 ¢cm X 54 cm X 72 cm HATITAT drel o1

18=2x2x3 =0 ¥ UF O UAH F NG AT §

IR H¥ gA IHER & 8 ua fafdqa

frr S 81 W 2 wAT F wed g
AXUXIR = &ABel (cm? ®) FT AT Fraar @92

a)2268  b)1944 #2592  d)3888
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[3- The areas of three adjacent faces of a
b\n\h" cuboidal solid block of wax are 216 cm?,
’ 96 cm? and 144 cm?. It is melted and 8
h cubes of the same size are formed it. What is
| the lateral surface area (in cm?) of 3 such

g cubes?
— a4 AA & UF UAHFR SN said & ol
e Behl, & &FABd 216 cm?2, 96 cm?
Obxbhxhi= 02 h*e IR 144cm? ¥ =¥ Ruamt A=
Lbh=(bh) ;
HHR I 8 °l AT A & W 3

lbh: el qRd ST AThd ( cm? H
Risapam @ e mi (on 3

= ) 648 432
ijm = a 0576 }d{)r288
A o 3xUx36 <43y

| SSC CGL T-2 2020 | 26




20- A river is 3m deep and 36m wide

flows at the rate of 5km/h into

- Khiom — the sea. The volume of water that
t . runs into the sea per minute is:

3 :‘ tF q4 3 Hler e

l "\l 3R 36 Alex dlsT ¥ S wAE A

5 frafi/ger @1 wify & F@ar ¥

ar gfa @ee wog A T8 ar

) el T A F4T 87

2x%6x B0 O a) 8300m3 /)’9000m
c) 7600m?3 d) 6400m?3

| SSCCPO, 16 Mar 2019 S1 | 27



5)(‘4‘%&3-&0

2 X600

2(-

@

6750

A river 2.5 m deep and 45 m wide is
flowing at the speed of 3.6 km/h.
The amount of water that runs into
the sea per minute, is

2.5m T 3R 45m T vF Q)
3.6fFHYEE Y 1Y ¥ T W Y
wF Aae & fhaer aet woag &
iR @1 87

a)6650m> #6750 m®

c) 6850 m? d) 6950 m?

|CDS 201511 | 28
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A rectangular water reservoir is
15m X 12 m at the base. Water
flows into it through a pipe whose
cross section is 5 cm by 3 cm at the
rate of 16 m/s. Find the height to
which water will rise in the
reservoir in 25 minutes.

TH ISR GE & ST
FT YR 15mx12m g TH
gy, @RI AT 5cm x 3cm
e A W16 m/s fraT q 59
STl # 9relY STelm ST @] 25
Ade & JaeT F ge F TR
# g8 "ol AT |

b) 2 cm

d) none of these

|

c)0.5m

29



— dx%?fx%:&ee%wxl
3

=96

S .

the )

—~ \15

23. Water flows into a tank

200 m x 150 m through a
rectangular pipe 1.5 m X
1.25m at the speed of
20 km/h. In what time (in
min.) will the water rise by
2 meters.

200 m x 150 m AT greil
et et # FEr
AR oTot, oaE
AT 1.5mx1.25 m §,
gaRT 20 km/h &Y ITfr @
e ST ST g 9
HT ToX Faa @eet &
2 #Hex 9¢ JTTIM?

48 b) 24

c) 96 d) 60
30

|



2, 24. A rectangular tank of dimension
4> = 225m X 160m at the base, with
S 8 5 what speed must water flow into it

ﬁé%y{xzx/g ;W%¢Xm through a rectangular pipe with

dimensions 40 cm X 60 cm so
mxme that the water level may be by 20

X=6 cmin 5 hours.

fFdt AR &F @ UR
225m X 160mg| T&H IAdHR
gy, fS9&T AT 40 cm x
60 cm g, @RI ha afa @ &=

Ton L% # s o ey & ¥F %
U0 9Tl $T TAX 5 el # 20cm 8
||,\/ S[e?
4 A 6 km/h b) 4 km/h
c) 5 km/h d) 3 km/h

| | 31



9¢. Water flows into a tank 180m X 140m
through a rectangular pipe of 1.2m X 0.75m

3 2 2% at a rate of 15km/h. In what time will the
/@eoxé’;(‘?xtmxw | water rise by 4 m?

12 180 #HeT x 140 HIeT & e ¢F H 1.2

2= =72 HeT x0.75 AR & IFAFR BT &

So- (S &#AgH ¥ 15 fFdlger 1 ¥ @ o

IS y JaTed g ¥ fhae g & Sel F1 &R

+o- 4 HieX I FTEIN?
a) 6 hours 42 minutes
7 hours 28 minutes
c) 5 hours 46 minutes
d) 8 hours 12 minutes

| SSC CHSL, 14 Nov 2020 S2 | 32
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